RRAR

295 E
ERBBEOBEDKIEEE
st | B L
T #1048 BRI =i | OF | Bi@ _ -
WA | 0% | 02 | penBeso | RALEBA | POD N x| gk | e | T2 | | A | . | A7 | DaER0 |08
DR | B | g Bk OBRAREE| T e | o | me | BO | ZL | BR | Gf | BB | BrAm | HE T80 j\ep
P ,I?'g” 2 ERaE : wE | s % fu'lg ok iﬁﬁ i E*k %‘g;g B
SN N6 %5y | (%) BE | Ty | 8H | Ty | B "
(%) (;,:) s BT | B | Sk
Bk el EAEAEEE e

58% 69% 67%| 12544 B | 14594 R 17% 57% 6% 97% 63%| 108% & 55% 54% 54% 37% 43% 20%| 2244| 234 FERL [ H29.4.1| H29.5.1




ZHBEOIRAEE 285 E
ERAREE B & zH | B | & ZHEE
A 8 15 23 35%
D 18 1 19 95%
IHE _EEE% 6 6 100%
ZE KM 1 2 3 33%
BRER Tt 1 1 0%
INEE 33 19 52 63%
A 1 4 5 20%
E3ES3ES 1 1 2 50%
FiEAD 1 1 100%
EREFEL B wEEEL 2 2 100%
%8 1 1 100%
RiEm(X) 2 2 0%
INEF 6 7 13 46%
ES:0] 2 3 5 40%
SFEEE R 1 1 0%
INEF 2 4 6 33%
a5t 41 30 71 58%




ERAAROZREDX RS 284

ERAREE B & zMH | BHE | &F ZHEE
AT 18 7 25 72%
B E B 1 1 100%
E-341]: 1 1 0%
TSt R B AT 2 2 0%
IHE B PRI B $ A 1 1 0%
ERERTFit 1 1 0%
FELT 4 1 5 80%
ReedlfE L 1 1 0%
ERER O EEL 2 1 3 67%
INEE 25 15 40 63%
wRALEL 3 3 100%
) %’ﬁﬁ 10 10 100%
REX (4®) 2 2 0%
INEE 13 2 15 87%
a&t 38 17 55 69%




BREOXMEHE ER29F481BIRE

ERAREE B & z % | BH| & | xIE

EEf 14 59 73 19%

FHERT 358 63 421 85%
SREREL 1 1 2 50%
1ReedlsEL 1 3 4 25%

L ERD 1 2 3 33%
wEREEAEL 1 100%

=BE8 12 22 34 35%

AEBERD 8 8 100%

Bjj B 27 27 100%

BF 2 2 100%

ZEHIET 4 12 16 25%

- B R AR & R Ah 7 13 20 35%
ERS ERERIDIEL 2 2 4 50%
ERR TFHE T 5 5 0%
EREEL 6 6 100%

BELF 2 2 0%

W #R 2 B 1 11 12 8%

BEEHE 9 9 100%

b 7 7 0%

mERI T 1 1 0%
Y=Yxl)—h— 3 2 5 60%

XEL 4 100%

Bt 1 1 0%

INEE 461 206 667 69%

17—+t 3 3 0%

EEf 2 9 11 18%

H R 13 13 100%

L ERD 1 4 5 20%

wEEE L 2 2 100%

=58 39 2 41 95%

AEBERD 8 8 100%

Bjj B 1 1 100%

B E B BF 21 21 100%
EHIEm 2 1 3 67%

B& R E A 2 3 5 40%
ERERIDIEL 1 1 100%

ERIR T¥it 1 1 100%

RN (X) 5 3 8 63%

BEES 2 2 0%

*ET 1 1 100%

INEE 99 27 126 79%

EEf 8 37 45 18%

FERT 2 2 100%

L ERD 1 5 6 17%
EEHEE | AFEM 1 1 100%
BELF 2 2 0%

W fR e B 1 1 0%

INEE 12 45 57 21%

B S EEfﬁ 1 1 2 50%
INET 1 1 2 50%

=1 573 279 852 67%




BLAOTERAERGE 284 FE
Z B %
ERRRE B 2
wEmEY | mEesy | mes m%@ga mgEY | me=
= BfiBS 1 1 100% 6 0 0%
EER 25 23 92% 7 1 14%
3 flirES 150% %
. EEE AT 2 3 50% 3 0 0%
B
IR
INEH 28 27 96% 16 1 6%
= EmES%
EER 1 1 100%
EX5:358001:3
A=
S EHEH 2 2 100%
IR
INEH 3 3 100% 0 0 0%
&t 31 30 97% 16 1 6%




FR284EE Brfd) 41 EhFE SRAR (FEER/BRAE A

. o o . o . . . 1AHEY
- ‘ = =35 A =35 37 =35 e =35 p7) ""'—Eat ""'—E.Ju ""'—E ""'—E 37 AE AE -

H55E B iE S B E%F'*lg;:ﬁ E%F'*lf;(;;ﬁ&‘ E%F'*lf;;*;. E%Fi?ow,* 4§|1_2§:E 4§|1_£Vi 4§|1_3175ka 4§|1_616|<,;ﬁ EJ?;\.:; il fﬁ(g%)+ ETHEA  ATH

(B¥FE) (B3R
EEf 55 912,002 91,362 516,501 26,695 0 0 0 0 1546560 25,776 469 39.1
R EAm 3 20,130 270 12,135 90 0 0 0 0 32,625 544 181 15.1
B 286 1,111,776 211,785 32,040 6,840 0 0 0 0 12362441 22,707 79 6.6
BhEEEm 19 14,865 12,115 0 0 0 0 0 0 26,980 450 24 2.0
HEE AN 6 22,145 1,690 0 0 0 0 0 0 23,835 397 66 5.5
FEHIEM 13 59,625 0 1,525 0 33,940 24,020 67,950 11,820 198,880 3315 255 21.2
T AT R 12 41,650 265 7,165 0 16,075 21,005 50,290 10,650 147,100 2,452 204 17.0
ERR R E AT 21 70,325 95 12,060 105 30,870 29,415 63,185 14,240 220,295 3,672 175 14.6
BEER T4+ 4 18,344 5,590 10,675 2,741 0 0 0 0 37,350 623 156 13.0
REESIER L 4 25,755 0 0 0 0 0 0 0 25,755 429 107 8.9
. EREIT L 1 6,750 0 0 0 0 0 0 0 6,750 113 113 9.4
Sl ERE AL 1 9,945 0 0 0 0 0 0 0 9,945 166 166 13.8
HEREL 7 42,840 0 5715 0 0 0 0 0 48,555 809 116 9.6
SHREEL 2 2,640 0 540 0 0 0 0 0 3,180 53 27 22

EEEET 0 0 0 0 0 0 0 0 0 0 0| #DIV/O! #DIV/0!
XEL 2 3,552 0 1,265 0 0 0 0 0 4817 80 40 33
ERERIIE L 1 360 0 360 0 0 0 0 0 720 12 12 1.0
Y=Sx)—h— 1 1,780 0 845 0 0 0 0 0 2,625 44 44 36
E%8 26 161,727 4,395 46,660 1,110 0 0 0 0 213,892 3,565 137 114
BEF 2 22,280 0 0 0 0 0 0 0 22,280 371 186 15.5
ES 3 130 0 725 0 0 0 0 0 855 14 5 0.4
INET 469 | 2548621 327,567 648,211 37,581 80,885 74,440 181,425 36,710 3,935,440 65,591 140 11.7
EEf 4 26,280 1,670 17,205 600 0 0 0 0 45,755 763 191 15.9
B 54 20,790 1,485 0 0 1,290 435 1,257 80 25,337 422 8 0.7
HEE R 2 1,155 105 0 0 0 0 0 0 1,260 21 11 0.9
FEHIEM 1 60 0 0 0 0 0 0 0 60 1 1 0.1
__ mn VEEEET 2 0 0 0 0 0 0 0 0 0 0 0 0.0
EW-CHDERES BRI+ 2 1,735 0 0 0 0 0 0 0 1,735 29 14 12
Y=Sx)—h— 2 860 0 60 0 0 0 0 0 920 15 8 0.6
E%8 1 1,287 0 210 0 0 0 0 0 1,497 25 25 2.1
BE5t 1 0 60 930 120 0 0 0 0 1,110 19 19 15
INGE 69 52,167 3,320 18,405 720 1,290 435 1,257 80 77,674 1,295 19 1.6
= e SEHE 8 42,855 140 1,110 0 0 0 0 0 44,105 735 92 7.7
RREENFIPH INGE 8 42,855 140 1,110 0 0 0 0 0 44,105 735 92 7.7

&it 546 = 2,643,643 331,027 | 667,726 38,301 82,175 74,875 | 182,682 36,790 | 4,057,219 67,620 124 10.3 |




